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Sixth Semester B.E. Degree Exami Jan./F eb . 2023
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t hour for testing. In agiwdrmonth the total numbg,.rbf hows available for assembly is
210 hours and for i"rffit!,ph is 90 hours. Formupffi problem as LPP in such a way that
the total profit is maxiqil"t$m. #;'r (08 Marks)

f -" * "

^ '\'2 a. Describe the stqgqinVo
b. Explain the terms : (i)

and 500/- per unit respective
2 hours of testing time w unit of desktop req 3 hours of assembly time and

c. Aco
30 rctively. Each belt*o'ffie A requires tr

produce 1000 be#ffiday. Leather is
s fancy buckles, thlie are only 400 bur

per day are available. How slpuld the companyffi&Wacturers the &ifo*es of belts in order
to maximize overall pro*@olve using Srantriffigdtrod. *; (08 Marks)

f .gff rr^r--l-* €Y@ Modr*e#aw * ,

3 a. Define with example*:{i) Slack vari4bffiffiii) Surplus v'a.riable (iir) Basic feasible
solution. *, * j,1} JT* (06 Marks)
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ffirn using simpffiethod : I 
":

9,"\
follg,uffi-r
,+ffi n"

ient only for 800 belts per day.
Belt A'ffiquires fancy buckles,ffie are only 400 bp#W per day. Fo"r B only 700 buckles

(10 Marks)

(10 Marks)

(06 Marks)

(06 Marks)

and x, - *, >b with all variables non negative.
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Mrmmrze z=245@}X% s
Subjected to#q$%lnt: *, 

1 
z*-r,,6#tu"

*ffirh+ 
Xz = 3 and @*"hX,andxz)o

Explain briefly two phase method.

ModuIe-3
Explain the procedurgoftlual simplex method.
Use dual simplex,trethod to solve the following LPP :

Minimize z 12f ,f x, + 3x,

Subjected to {.*2x, +xr>. 4
#

&*" 2xr+x2+x:(8

ffi#',.

(10 Marks)
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a.

b.
c.

d.

(ii) Unrestricted variables. e%'*
The dual simplex method to solve the following pro,UIF;;p-:

r@,= f*4--
Explain North-West corner 6ffi with an example.
Using Vo gel' s Approximatfu r$#f etho d (VAM), solvr

f -*;::* l3f

(06 Marks)

OR
Explain briefly : (i) Formulation of dual linear

OR
List the applications ihme theory.
Explain min- max-min principle.
Distinguish
Explain the

pure strategy and mixed stratergy.
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(06 Marks)

(10 Marks)

(06 Marks)

(10 Marks)

(04 Marks)
(04 Marks)
(04 Marks)
(04 Marks)

Maximize z= -2xr-3xz gH*
Subjected to x, + xz) 2 _ffi2xr+xz ( 10 ffi*x,+xr(8 #%-r}t^ ---.:rL -- ^-l -- -^- -^^^1:--^

a.

b.

with xr and x2 non negative. (10 Marks)

Using Vogel's Approximatfur$Fethod (VAM), solve thesollowing transportation problem :

Explain difflerent tlpes of as,sigt#" proUtrnr. ffi';'Y &*r**Es (06Marks)
Four new computers (C**#, Cr, Ca) are to p,e- ifuitalled in a coffit*er center. There are
5 vacant places (A, B,*ffiD and E) availabf,e. Bechuse of limited spar:'e Cz cannot be placed
at C. and C3 cannot biiifaced at A. Thetffiriinent cost of,{he{omputers to the places is
given below. Fin{thefoptimal ass .+ry" .ipri# ffi

y*e**$ 
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